
A M O U N T  O F  S U B S T A N C E

Q6. A teacher found that the oxide of copper produced 2.54 g of
copper and 0.72 g of water. Two possible equations for the reaction
are:

Determine which is the correct equation for the reaction in the
teacher’s experiment. 
Relative atomic masses (Ar): H = 1 O = 16 Cu = 63.5

  [3 marks]
AQA June 19 H Q8.4
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Q8. A mixture contains 1.00 kg of aluminium and 3.00 kg of iron oxide.
The equation for the reaction is: 2Al + Fe₂O₃ → 2Fe + Al₂O₃ 
Show that aluminium is the limiting reactant. 
Relative atomic masses (Ar): O = 16 Al = 27 Fe = 56
 

  [4 marks]
AQA June 20 H Q6.2

HT



A M O U N T  O F  S U B S T A N C E

Q10. Calculate the minimum mass in grams of magnesium needed to
completely reduce 1.2 kg of silicon dioxide. 
The equation is 2 Mg(s) + SiO₂(s) → Si(s) + 2 MgO(s)
Relative atomic masses (Ar): O = 16 Mg = 24 Si = 28

  [5 marks]
AQA June 22 H Q7.4

HT
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Q12. Calculate the percentage atom economy for the production of
silver iodide in this reaction. The equation for the reaction is:
AgNO₃(aq) + NaI(aq) → AgI(s) + NaNO₃(aq) 
Give your answer to 3 significant figures. 
Relative formula masses (Mr): AgNO₃ = 170 NaI = 150 AgI = 235 
NaNO₃ = 85

  [4 marks]
AQA June 20 H Q3.5



C ON C EN T R A T I O N

Q15. Calculate the mass of sodium hydroxide in 30.0 cm³ of a 0.105
mol/dm³ solution. Relative formula mass (Mr): NaOH = 40

  [2 marks]
AQA June 18 H Q9.5

Q16. A student made 250 cm³ of a solution of citric acid of
concentration 0.0500 mol/dm³. Calculate the mass of citric acid
(C₆H₈O₇) required. Relative atomic masses (Ar): H = 1 C = 12 O = 16

  [3 marks]
AQA June 20 H Q9.4
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C ON C EN T R A T I O N

Q18. A student found that 15.5 cm³ of 0.500 mol/dm³ dilute sulfuric
acid completely reacted with 25.0 cm³ of potassium hydroxide
solution. The equation for the reaction is: 
                                 2KOH + H₂SO₄ → K₂SO₄ + 2H₂O 
Calculate the concentration of the potassium hydroxide solution in
mol/dm³ and in g/dm³
Relative atomic masses (Ar): H = 1 O = 16 K = 39

  [6 marks]
AQA June 19 H Q9.5

Q19.  A student found that 25.0 cm³ of the sodium hydroxide solution
was neutralised by 15.00 cm³ of the 0.0480 mol/dm³ ethanedioic acid
solution. The equation for the reaction is: 
H₂C₂O₄ + 2 NaOH → Na₂C₂O₄ + 2H₂O 
Calculate the concentration of the sodium hydroxide solution in
mol/dm³

  [3 marks]
AQA June 21 H Q9.5
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